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Attempt all questions. All questions can;y equal marks.
Use of simple calculator is allowed. Workings form part

of your answer. - )
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(@ () What is meant by management accounting ?

Discuss. its objectives.

(i) Explain the distinction between cost control and

“cost reduction. ' 6

- PTO.
Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

(2 012

(0)  Attempt the following (working notes should form part

of the answer) :

(i) Total fixed cost < 12,000; Contribution < 20,000;
Number of units sold 10,000; Variable cost is 60%

of sales. Determine selling price per unit and also

the total profits/loss.
(i) Total fixed cost T 12,000, Actual sales T 48,000;
Margin of safety T 8,000. Determi.@@v ratio.
(iiiy A company which has a Qm@:ﬁg’n of safety.of

T 4 lakhs makes a profit @\‘ 80,000; Its fixed cost
Q

is ¥ 5 lakhs. Find’ the break-even sales

volume. ) 9
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What is meant by margin of safety and angle of

incidence ? Show these on a break-even chart. 6

There are two factories under the same management.

It is desired to merge these two factories. The following

information is available :

Factory A Factory B
Capacity operation 100% 60%

Sales T 300 lakhs T 120 lakhs

Variable Cost % 220 lakhs ¥ 90 lakhs

Fixed Cost T 40 lakhs ¥ 20 lakhs

Calculate -

@  The capacity of the merged plant for the purpose

of breaking-even and
() The profit on workin
g at 75% of the merged
Capacity.

9
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Compared with absorption costing, when will variable
costing report lower profits, higher profits and equal
profits. Explain with examples. 5
The following are the estimated sales of X Company

for eight months ending 30-10-2018 :

April 2018 — 12,000 units
- May 2018 — 13,000 units
its
June 2018 = 9,009 uni

units

July 2018 = 8,000 ‘
August 2018 — 10,000 units
" September 2018 — 12,000 units
October 2018 — 14,000 units
its

November 2018 — 12,000 uni
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As a matter of policy, the company maintains the closing
balance of finished goods and raw materials asr
follows :
()) ~Finished goods—closing stock of a month will be
50% of the estimated sales for the next months.
() Raw material—closing stock of a month will be
equal to estimated consumption for the next month.
Each unit of production consumes 2 kg of raw material
costing ¥ 6 per kg. Prepare the following budgets for
the half year ending 30-09-2018 :
() Production .budget (month-wise in units).
() Raw material purchase budget (month-wise in units

and cost). 10
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(@  “Flexible budgets are more realistic and useful than fixed

budgets.” Do you agree ? Explain. 5
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A co. can produce 4,000 units of a product at 100%

capacity. The following information is available from its

records :

April May
Units produced 2,800 3,600

4 4
Power 1,800 2,000
Repairs and maintenance ) 500 560
Indirect .labour 700 900
Consumable stores ~ 1,400 1,800
Inspector 200 240
Depreciation 1,400 1,400
Salaries 1,000 1,000

Direct material cost per unit is ¥ 1 and direct wages
per hour is ¥ 4. Rate of production per hour is 10 units.
Prepare the flexible budget for production at 100%, 80%

and 60% capacity levels showing variable; fixed and

semi-variable items. 10
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Briefly describe the following Control Ratios : 2
0] Activity Ratio

(i) Capacity Ratio

(i) Efficiency Ratio

() Calendar Ratio,

( 9 ) 012

From the following information aboyt sales,

calculate : 10

A

(/) Total Sales Value Variance
(i) Sales Price Variance
(ii7) Sales Volume Variance
(v) Sales Mix Variance
(v) Sales Quantity Variance
Standard | Actual

Units  Rate Units Rate

7 4
Product A 5000 5 g - &
Product B 4000 6 o0 :
Product C 3000 7 L 8
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(b)

What is standard costing™? Distinguish between standard

. costing and budgetary control. 3

Standard hours for producing two products A and B
are 15 hours and 20 hours per unit respectively. Both
products require identical type of labour and the
standard wage rate is ¥ 5 per hour. In a year 10,000
units of A and 15,000 units of B were produced. The
total labour hours actually worked were 4,50,500 and
actual wage bill came to ¥ 23,00,000. This included 12,000
hours paid for at ¥ 7 per hour and 9,400 hours paid
for @ ¥ 7.50 per hour, the balance having been paid
at T 5 per hour. Compute Labour Cost Variance, Labour

Rate Variance and Labour Efficiency Variance. 5

Download all NOTES and PAPERS at StudentSuvidha.com

©

(1)

(#)

(9)

T 7012

From the following information, compute Fixed Overhead
Costvariance, Expenditure Variance and Volume Variance.
Normal capacity is 5000 hours, Budgeted fixed overhead
raté is T 10 per standard hour. Actual level of capacity
utilized is 4,400 standard hours. Actual fixed overheads
T 52,000. Also,: verify your result. 5
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The following particulars are extracted from the records of 5

company :
Particulars Product A Product B
Sales (per unit) < 100 T 120
Consumption of material 2 kg 3 kg -
Material Cost T 10 T 15
Direct wage cost % 15 T 10
Direct expenses - ® 16
Machine hours used 3 g& 2 Hours
Overhead expenses : Q§‘Z’
N
Fixed N ¥ T 10
$
Variable /> T 20

Direct wage rate per hour is I-5.

(@) Comment on the profitability of each product (Both use

the same raw material) when :

() Total sales potential in units is limited

(i) Total sales potential in value is limited

(iii) Raw material is in short supply; and

(b)

(iv) Production capacity (in terms of machine hours) -

is the limiting factor.

Assuming raw material as the key-factor, availability of
which is 10,000 kg and maximum sales potential of each
product being 3,500 units, find the product mix which

will yield the maximum profit. 15
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What do you mean by relevant costs and irrelevant

cost in decision-making ? Give examples. 5

X Ltd. annually manufactures 10,000 units g\a product
at a cost of ¥ 4 per unit and sells t és’ésgm the "hofne

market at a selling price of ¥ 4.25@ unit. In the next

year, there is fall in demand iRCibme market Which can

absorb 10,000 units only Q\Qprice of ¥,3.72 per unit.
The total cost of 10,000 units is “as follows -

Materials < 15,000
Wages < 11,000
Fixed overhead < 8,000
Variable overhead T 6,000

The foreign market is explored and it is found that this
market can consume 20,000 units of the product at a
price of Z 3.55 per unit. (Assume that the company
has sufficient plant capacity to produce additional
output). It is also discovered that fixed overheads will
increase by 10% for additional output above initial
output of 10,000 units. Is it worthwhile to try to capture

the foreign market ? Give reasons. 10
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5.  Prepare a cash budget for four months ending on 31st (5) 70% of the credit purchases is paid after one month
December, 2018 on the basis of the following information - and remaining 30% is paid after two months of purchase.
()  Income and expenditure forecasts : ©6) Waées are paid on 3rd day of every month.
Months Sales | Purchases| Wages | Other Expenses (7)  Other expenses include a depreciation of ¥ 2,000 p.m.

3 3 ! (8) Commission @ 5% on the total sales payable after one
- dhiden e — -~ month is not included in the other expenses.
uy ) e 3 s &}Q ¥ | .
Ausust - p—_— e (9  Machinery is purchased @ T 60,000 and payment is
ugus { i @g& :
Q\(?()2)' . to be made in Septémber.
September | 75,000 5%@\ 17,500 8,000 <
' (10) A dividend on investments of ¥ 10,250 to be received
October | 90000 | 60,000 | “17,100 7,850 _
in November.
November | 1,05000| 70,000 12,000 7300
(1)  The company has 10% Debentures of ¥ 1,00,000. The
December | 120,000 80000 | 12,000 7,050 , interest is payable quarterly in March, June, September
(2) Cash balance on 1st September T 47,000. and December.
(3 1t is expected that 50% of the sales will be in cash (12) In case of deficit in cash in any month, the Company
) and 25% of the purchases will be made on cred ¢an arrange an overdraft from the bank for that month
and : .
(4 75% of the credit sales is realized one month afier the Such overdraft is to be repaid as car ly as possible
. ' - out of th
sales, 20% of the credit sales is realized tWO months © surplus cash of the subsequent month. Ignore
the int,
after the sales and the balance is bad debt. ; eSSt on the overdraft

15
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(@  Define and explain responsibility accounting. What are pre-
requisites for introducing responsibility accounting in- a
- company ? 6
(b) 'Write notes on any three of the following ¢ 9

(?) Transfer Pricing;

(iiy Zero Base Budg%fiji@,®
‘ 9

(iif) Profit Centrg’@nd Cost Centre;
‘ Q

@) Non-c@ Factors for taking Make or Buy

Decisions.
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